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Question Number : 1 Question Id : 206205505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A Dumb Terminal generally has:

Options:
,  Keyboard and screen

-~ # Keyboard and hard disk
- » Processor and keyboard

4 % Processor and hard disk

Question Number : 1 Question Id : 206205505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 206205506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The device that can understand the difference between data & programs is:
Options:

|« Microprocessor

> % Input Device

- % Output Device

4 % Memory

Question Number : 2 Question Id : 206205506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 206205507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the smallest unit of computer information?

Options:
| % Byte

> « Bit
3 % Pixel

4 % Binary dot

Question Number : 3 Question Id : 206205507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 206205508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is correct?

Options:



. % 1KB=1000 Bytes

. » 1 KB=1024 Bytes
- % 1MB=1000Bytes

, % 1MB=1024 Bytes

Question Number : 4 Question Id : 206205508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % 1 KB = 1000 sr=ew

, » 1 KB = 1024 sr5eH

. » 1 MB = 1000 srseq

. 1 MB = 1024 s=eq

4.

Question Number : 5 Question Id : 206205509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘What is the primary purpose of an operating system?
Options:

, « Tomake the most efficient use of the computer hardware.

» % Toallow people to use the computer.

- w 1o keep system programmers employed.

, % Tomake computer easier to use.

Question Number : 5 Question Id : 206205509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 206205510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following devices is only used to play fast computer games?

Options:
1 # Touch surface

> % Touch screen
= % Track ball

i Joystick

Question Number : 6 Question Id : 206205510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 206205511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which feature allows the user to view information about his/her computer hardware?

Options:
, % CHKDSK

o R Start



5 u All programs

4 « Control Panel

Question Number : 7 Question Id : 206205511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 8 Question Id : 206205512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In computer terminology. what does “CAD’ stand for?

Options:

, % Computer Algorithm in Design

-  Computer Aided Design
5 » Computer And Design

4 » Computer and Devices

Question Number : 8 Question Id : 206205512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
, = Computer Algorithm in Design

-  Computer Aided Design

Computer And Design

z ®



4 » Computer and Devices

Question Number : 9 Question Id : 206205513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
EPROM can be used for which of the following purposes?
Options:

, w Reconstructing the contents of ROM

-~ » Erasing the contents of ROM

5 % Duplicating ROM

4 « Erasing and reconstructing the contents of ROM

Question Number : 9 Question Id : 206205513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 206205514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following devices has a limitation that it can only be read but cannot be erased or modified?

Options:
, = Tapedrive
> % Hard disk

-  Compact disk

4 » Floppy disk



Question Number : 10 Question Id : 206205514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 206205515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The memory which needs to refresh is:

Options:
, ® ROM
5 % SRAM

= « DRAM

4 % PRAM

Question Number : 11 Question Id : 206205515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 206205516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is a write-protected storage device?

Options:
1 % Hard Disk

» # Floppy Disk

s « CD-ROM

4 % RAM

Question Number : 12 Question Id : 206205516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 7 ¥ #i7 15 wieaes W= BaEa 272
Options:

, » &% 3% (HARD DISK)

, « AT 3% (FLOPPY DISK)
, v HE-UH (CD-ROM)

, « F (RAM)

Question Number : 13 Question Id : 206205517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is true of Virtual Memory?

Options:
, w Itisa partof the main memory

2. ¥
It is a technique to allow a program. whose size is more than the size of the main memory. to run.

- » Itisa part of secondary storage used in program execution.

4 % Itis cache memory

Question Number : 13 Question Id : 206205517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 14 Question Id : 206205518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Generally, which software is used to keep record of data?

Options:
1 « Database software

- w Word processing software

5 » Operating system

4 # Utility software

Question Number : 14 Question Id : 206205518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 206205519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘What is the file extension for MS Access (2003 and earlier versions) files?

Options:



.dbs

,_.
u

.mbd

ra
u

3 « .mdb

4 ® Xls

Question Number : 15 Question Id : 206205519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS Access (2003 3T SHE 9ge & Toial 1) T BISeil FT BISeT THESAT FT 272

Options:

1 ® .dbs

4 % Xls

Question Number : 16 Question Id : 206205520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A CD-ROM drive uses which of the following techniques?

Options:
, % Magnetic Storage Technique

-  Optical Storage Technique

- % Solid State Storage Technique

4 = Electronic Storage Technique

Question Number : 16 Question Id : 206205520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 206205521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What are minicomputers also known as?

Options:

| « Midrange Computers

- » Personal Digital Assistants

5 % Mainframe Computers

4 % Laptop Computers

Question Number : 17 Question Id : 206205521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bt Frage &1 5§ A1 ¥ off = F14w g

Options:

| o B FEgEE
L« Tow B sfawew
.y HTRE FEYEH

o AT FEUEH

Question Number : 18 Question Id : 206205522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

On a hard disk. a runs through each track of a stack of platters.
Options:

, % Magnetic charge



o  Cylinder

3 % Head

4 % Sector

Question Number : 18 Question Id : 206205522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 206205523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which data type would vou use to create a new field. of name “Remark™ and a field size 257, in MS Access?

Options:
1 % Aftachments

> % Text
5 » Description

4 + Memo

Question Number : 19 Question Id : 206205523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 206205524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does MAN stand for?
Options:

. Metropolitan Area Network

- % Master Area Network
- % Metropolitan Art Network

4 % Mobile Area Network

Question Number : 20 Question Id : 206205524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MAN & 90T &7 §:

Options:
, « Metropolitan Area Network

- % Master Area Network

5 % Metropolitan Art Network

4 % Mobile Area Network

Question Number : 21 Question Id : 206205525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does WAN stand for?
Options:

1 ®% Wire Area Network

> % Wireless Area Network

5 % Wire Art Network

4 « Wide Area Network



Question Number : 21 Question Id : 206205525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WAN T 90T &9 &

Options:
1 = Wire Area Network

> % Wireless Area Network
= % Wire Art Network

4 v Wide Area Network

Question Number : 22 Question Id : 206205526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A password provides protection from:

Options:
T i T T
, « Unauthorised entry to the system

- % Discrepancies in the software
% % Defeat in the hardware

4 ® Virus programs

Question Number : 22 Question Id : 206205526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frafafea 7 @ gwae BFed g e i 87

Options:

I_Jﬁﬁmﬁmﬁ%qﬁﬂ'@r

. x T A Fhe @

4 % ITIIH GEH F

Question Number : 23 Question Id : 206205527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What does Ctrl + B key combination do?

Options:
, = Converts selected text into the next larger size of the same font.

> # Adds a line break to the document.
3 « Makes the selected text bold.

4 = Applies italic formatting to the selected text.

Question Number : 23 Question Id : 206205527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 24 Question Id : 206205528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Under which of the following tabs can one find cut, copy and paste options?
Options:

1 % File

&,

> of Edit
= % Format

4 » Help

Question Number : 24 Question Id : 206205528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 206205529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A hardware or software designed to guard against unauthorised access to a computer network is known as a/an:

Options:

, w Hacker Proof Program

> « Firewall

- » Encryption Safe Wall

4 % Hacker Resistant Server

Question Number : 25 Question Id : 206205529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % g Fi grmH (Hacker Proof Program)

, » BTEEre (Firewall)

3 % ufesFels W% aTer (Encryption Safe Wall)

, « &% (ST T (Hacker Resistant Software)

Question Number : 26 Question Id : 206205530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Printek India has five workstations and two printers. This is most likely a:

Options:
1 ¢ LAN



> % MAN
s % WAN

4 % Company

Question Number : 26 Question Id : 206205530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » LAN

> # MAN

2 = WAN

Company (F9=T)

4 ®

Question Number : 27 Question Id : 206205531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To make a notebook act as a desktop model. it can be connected to a which is connected to a monitor
and other devices.

Options:

1 % Bay

5 o Docking station

= % Port

4 % Network

Question Number : 27 Question Id : 206205531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 206205532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which term describes hardware or software that protects your computer or network from probing or malicious wsers?
Options:

1 % Router

> « Firewall
= % Protocol

4 % Spyware

Question Number : 28 Question Id : 206205532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 206205533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to identify. prevent and take action against malicious programs?

Options:
. % Vvirtual Private Network (VPN)

> « Antivirus software

= % Firewall



4 » Cryptography

Question Number : 29 Question Id : 206205533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 206205534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In , a node receives the data from one of the neighboring nodes and passes it to the next node.

Options:
, w Startopology

-  Ring topology

- % Bus topology

4 % Mesh topology

Question Number : 30 Question Id : 206205534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 31 Question Id : 206205535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a mechanism to protect private networks from outside attack?
Options:

1 ® Anfivirus

o,

> o Firewall
- » Digital signature

4 » Formatting

Question Number : 31 Question Id : 206205535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 32 Question Id : 206205536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the process of making an extra copy of data and storing it at a different location on the computer?

Options:
1 # Restore

-  Backup
- % Whaling

4 » Privilege escalation



Question Number : 32 Question Id : 206205536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 206205537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to share data, programs and information between two or more computers?

Options:
1 # Internet

» » Backup

5 % System

4 « Network

Question Number : 33 Question Id : 206205537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 206205538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In topology. all devices are connected to a device called ‘hub” and communicate through it.

Options:
1 ® DBus

> o Star
5 w Ring

4 % Mesh

Question Number : 34 Question Id : 206205538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 35 Question Id : 206205539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Page indentation option is available in which tab of Word 2016?
Options:

, w» Pagelayout

-~ % Format
= % Insert

4 Lavout

Question Number : 35 Question Id : 206205539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 206205540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The Master Boot Record (MBR) 15 a boot sector and the first sector of a partitioned mass storage device.
Options:

, » 128-byte

, % 256-byte
. = 446-byte

. » S12-byte

Question Number : 36 Question Id : 206205540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 128am®E
, « 256-8TEC
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, v B12-9mE

Question Number : 37 Question Id : 206205541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘What is the short cut key to open the ‘Open’ dialog box?

Options:
, % F12



> o Ctrl +F12
z ® Alt+F12

4 % Shift +Fi12

Question Number : 37 Question Id : 206205541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘Open’ STIANT T H Tela & T e F 7 Fig @ 2

Options:

| % F12
> v Cirl + F12
- % Alt + F12

. = Shift + F12

Question Number : 38 Question Id : 206205542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where are values and formulas entered in an Excel window?
Options:

Title Bar

®

i,

-~ % Menu Bar

o,

= « Formula Bar

Standard Toolbar

o
®

Question Number : 38 Question Id : 206205542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ver fEEr & Pl @ &8 Tt HR T B g WA F AT & 2

Options:

| @%ed X

, % TR

. o PIHET AR
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Question Number : 39 Question Id : 206205543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Exploring the Internet is called

Options:
, w e-mailing

- % Chatting

5  Net surfing

4 % e-learning

Question Number : 39 Question Id : 206205543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gelAc T TFHTAINET (STH-a1) F FeT 7T gl
Options:

L% S-HfoT

o R %T
- T Ffther
4 ® é‘aﬁ?r

Question Number : 40 Question Id : 206205544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
M-reservation is a process of making reservations through which of the following?

Options:
1« ADP installed on smartphone

- » Personal computer

= % Domain name

4 % Mobile phone sellers



Question Number : 40 Question Id : 206205544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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, » FTETSS Wi fadhar

Question Number : 41 Question Id : 206205545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to transfer files between a client and server on a computer network?

Options:
1. v FIP

> % HTTP
s # DNS

4 % TCP

Question Number : 41 Question Id : 206205545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fardlt ey REaE 9T FET AT W ¥ 919 wEe | gew e ¥ B Rt d e R e
o T = &

Options:

. v FTP
> % HTTP
5 % DNS

. % TCP

Question Number : 42 Question Id : 206205546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is the default page setup orientation of slides in PowerPoint?

Options:
1 % Vertical

-  Landscape

z # Portrait

4 % None of these

Question Number : 42 Question Id : 206205546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
qrEY e # Aeaef@a 3 ¥ 7 Tssy & Bwiee 99 BT fifyveers 7272
Options:
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Question Number : 43 Question Id : 206205547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A host on the internet finds another host using:

Options:
Postal address

®

i,

- % Electronic address

&,

3 « IP address

Host number

o
®

Question Number : 43 Question Id : 206205547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 44 Question Id : 206205548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which protocol is used for fetching e-mail from a mailbox?

Options:
i, v POP3

> % POP2
- % FTP

4 % SMTP

Question Number : 44 Question Id : 206205548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AoEad T § A o & [T Fid T ek & 39497 Far Srar g2

Options:

| «» POP3
> % POP2
- % FTP

. # SMTP

Question Number : 45 Question Id : 206205549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Portrait and Landscape are in MS Word.
Options:

, « Dbage orientations



> % paper sizes
- u Ppage layouts

4 % page borders

Question Number : 45 Question Id : 206205549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UH TH 9% # 9ée 3 df=md 2l
Options:

1_.;'313'3'11'&@?3@
, » T WEAH
= % YT AT

g ﬁ?a:l—%ﬁ

Question Number : 46 Question Id : 206205550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which tab will you use to change the typeface of a document?

Options:
1 ® Edit

> « Home
2 ® View

4 % Design

Question Number : 46 Question Id : 206205550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 47 Question Id : 206205551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a font style?

Options:
1 % Bold

>  Italics

5 » Regular

4  Superscript

Question Number : 47 Question Id : 206205551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
F=ofEa 7 o =7 & #iec e FET &7
Options:

1 ® alﬁg

Question Number : 48 Question Id : 206205552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the default number of lines to drop for drop cap?

Options:
1.4 3

- ® 10

=% 15



Question Number : 48 Question Id : 206205552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T FT H IT =S F v anEar Fr Bree mwmr #7432
Options:

1.4 3

o ® 10
SR ] 15

g4 = 20‘

Question Number : 49 Question Id : 206205553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements is valid?

Options:

| % 1 KB =8 Bytes

> % 1MB=8KB

5 1 KB =1024 Bytes

, % 1 MB=1024 Bytes

Question Number : 49 Question Id : 206205553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o # 9 +iF a a7 T8 &7

Options:

1 347 (KB) = 8 s1==H (Bytes)

®

:

1 T&dt (MB) = 8 3=t (KB)

[
®

. » 1 %8 (KB) = 1024 5w (Bytes)

, » 1THEE (MB) = 1024 a18eH (Bytes)



Question Number : 50 Question Id : 206205554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Web spiders and crawlers are used by which of the following?
Options:

1 % DBrowsers

o « Search engines

- » HTML programs

4 % Flames

Question Number : 50 Question Id : 206205554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1@3m
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5 % UISIUHATS 9ETH
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Question Number : 51 Question Id : 206205555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which is the feature of MS Word that automatically adjusts the amount of space between certain combinations of
characters so that the entire document looks evenly spaced?
Options:

, = Spacing

>  Kerning
5 w Scaling

4 w Positioning

Question Number : 51 Question Id : 206205555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 52 Question Id : 206205556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the key combination to display the Insert function dialog box in MS Excel?

Options:
, % SHIFT+F11
> « SHIFT + F3

5 % CTRL +F9

4 % ALT +F§

Question Number : 52 Question Id : 206205556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
THAUE TFad H S=0¢ FFIT STTAT 9y JES9d i & ow F-gar=a Far 22
Options:

. % SHIFT + F11
> v SHIFT + F3

. » CTRL + F9

4 % ALT + F8
READING COMPREHENSIOM
Section Id : 20620580
Section Number : 2

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes
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Question Shuffling Allowed : Yes

Question Id : 206205557 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension



Read the passage given below and answer the questions that
follow by marking the most appropriate option out of the four
given after each question.

They save scores of lives in Delhi, but they are themselves a
vulnerable lot. This is the story of 13 Delhi Government divers
who made several deep dives to take out the bodies of two
young boys when their boat capsised in Yamuna, near
Timarpur, recently.

But even as they fetch out bodies and save lives, these life
guards, all of them between 25 and 35 years of age and without
any formal swimming training, are forced to dive into the
city’s toxic waters without body suits or oxygen masks while
carrying out these rescue operations.

The recent rescue operation took them more than 12 hours to

find the two dead bodies as the boat had capsised at the deepest
part of the river, which is close to 50 fi deep, claimed one of
the divers.

“We were born on the banks of the Yamuna and we are used to
filth and pollution. But when we enter these dirty drains, it
leads to skin diseases, respiratory and eye-related problems.”
confessed a diver. Cases of drowning increase manyfold in
the summers. Most people are on holidays and they go to the
Yamuna, canals or other water bodies to beat the heat, but
without appropriate safety measures, and land in trouble. As
there are no boundaries around the Yamuna and the high--
flowing Munak canal, it becomes difficult to curb accidents.

These divers claim that fetching a body out of the Yamuna is
not as troublesome as fetching one out of Munak canal in
Bawana. “The water flows at a very high speed here and the
depth is close to 15 ft. We can go as deep as 40-50 ft but in
Bawana, due to the speed of water, bodies are washed away
and we have to check a larger area,” said diver Intezaar.

These lifeguards, however, don’t complain much. “It is a
mission for us to fetch dead bodies and rescue people. Life is
valuable and we feel blessed saving each soul. Our mission is
to take out even decaying dead bodies, as it is important for
family members and police,” said Rayees Ahmed, one of the
divers.

Sub questions

Question Number : 53 Question Id : 206205558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Who does the pronoun ‘They " refer to?
Options:
, w» Themorning walkers.

> « The Delhi Government divers.
z % The swimmers.

4 % Thetwo young boys.

Question Number : 54 Question Id : 206205559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tick the option which is FALSE.

The normal requirements of divers are:
Options:
; % Oxygen masks.

- % Formal swimming training.
= « Formal education.

4 = Body suits.

Question Number : 55 Question Id : 206205560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is the Munak canal?
Options:

1 « In Bawana.

- % In Meerut.
= % Near Ghaziabad.

4 % In Nagpur.

Question Number : 56 Question Id : 206205561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Why is it difficult to bring out dead bodies from the
Munak canal?

Options:



, % Thecanalis very deep.
-  The flow of water in the canal is very fast.
- % [Ihe water in the canal is very dirty.

4, % Thereis no cooperation from the public.

Question Number : 57 Question Id : 206205562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The divers don’t complain much because:
Options:

, « they take their job as a mission.

-~ » they need money.

5 % diving is their hobby.

4 % diving is an adventure for them.

Question Id : 206205557 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 206205558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 206205559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, ®% TFAAA HATER

5 Ao R

4

Question Number : 55 Question Id : 206205560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 206205561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 206205562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

v 3 T RIS F T F AT FH A &

. » 376 U FH HETHA §
. % TAERT 3o otE §

., » TEERT 3% T v wrfEe w1 g

OUANTITATIVE APTITULDE
Section Id : 20620581
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 20620581
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 206205563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
B 15 3 vears alder than A and B is alse 3 years younger than C., 3 years hence, the respective ratio between the ages of A
and C will be 4 2 5. What i5 the sum of the present ages of A, B amd 7

Options:
| % 48 years

5 % 36 years

5 % 03 years

4P 72 years

Question Number : 58 Question Id : 206205563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % 48 T§
> % 56 ¥
- % B3 T¥

4 72 T

Question Number : 59 Question Id : 206205564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bag contains 3 red, 5 yellow and 4 green balls, Three balls are drawn out, What i3 the probability that all three are of
different colours?

Options:

1 o 3/11

> % 13/220
5 % 1/220

4 % 722



Question Number : 59 Question Id : 206205564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| @ 311
. = 13/220
- = 1/220

4% 722

Question Number : 60 Question Id : 206205565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should come in place of the question mark (?) in the following equation?

% of 3842+ 15% of 7= 2449

Options:
1« 3520

Lh
L]

>~ % 32

L
#®
L]
L
Lh
!

Question Number : 60 Question Id : 206205565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

rafeTag T § d [REa (?) & TUE W F7 IRE?

38423:r‘5+ ? FT15% — 2449

Options:

. v 3520
. % 3250

5 % 3350



., = 3540

Question Number : 61 Question Id : 206205566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A solid is in the shape of a cone standing on & hemisphers and radivs of the base of the cone is equal to radius of the
hemizphere. IT the radius of hemisphere 15 2 cin and height of the cone is equal to s base radius. then the volume of
solicl 45:
Options:

1 8% 27

> % 4m
= % OW

4.« 8T

Question Number : 61 Question Id : 206205566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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&1 afy sndaer $r Fawar 2 W it o T oud A e F Tt & A S w1 awaEs

Options:
1 8 2m

> % 47
= % OW

4. 8T

Question Number : 62 Question Id : 206205567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the question below, a number series is given in which one number is wrong. find out wrong number.

5 T 16 57 244 1245 7506
Options:
1.4 7
o B 16

T B 57



Question Number : 62 Question Id : 206205567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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§ 7 16 57 244 1245 7T508
Options:
1.« 7

L ® 244

Question Number : 63 Question Id : 206205568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

2442 243 3.4 .
Ifa+by3= — + ‘L + —=—— . then the value of V3a— b is:
2—43 2 +43 V3 +1
Options:

| % V33

3_&3‘\'@

4.9 7

Question Number : 63 Question Id : 206205568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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GEMERAL MENTAL ABILITY AND REASONING

Section Id : 20620582

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 20620582
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 206205569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If FISH is written as EHRG in a certain code. how would JUNGLE be written in that code?

Options:
1 + ITMFKD
> % ITNFKD

- % KVOHMF

4 % TIMFKD

Question Number : 64 Question Id : 206205569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
e TiFaa FiE # afe FISH & EHRG @ @mar &, & JUNGLE & 8T #i5 & e ot Bar sm&en?

Options:

. v ITMFKD
- % ITNFKD
s » KVOHMF

4 % TIMFKD

Question Number : 65 Question Id : 206205570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Select the option that is related to the third term in the same way as the second term is related to the first term.

Summit : Apex : : Summon ; ?
Options:

, w Judge

- % Court
3 « Beckon

4 % Witness

Question Number : 65 Question Id : 206205570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

37 BFeT # 904 F{ 5 AW 9% ¥ I TEE ¥ TN £, 5 990 g0 92 UE 92 ¥ HEE g

o8 e  @EEa 7
Options:
1 ® =

o % edidleld

, THd F eI

4 % T9IE

Question Number : 66 Question Id : 206205571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that correctly explains the relationship between the two statements below.

Assertion (A): Salt is added to cook food at higher altitudes.
Reason (R): Temperature is lower at higher altitudes.

Options:
, » Both A and R are true and R s the correct explanation of A.

o o Both A and R are true but R is not the correct explanation of A.

= % A Is true but R is false.

4 % A s false but R is true.



Question Number : 66 Question Id : 206205571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 206205572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the number of triangles in the figure.

.

Options:
1 ® 3

- R 10
3. v 12

4 B 14

Question Number : 67 Question Id : 206205572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® 8
o ® 10
3 ¢ 12

g4 14

Question Number : 68 Question Id : 206205573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In a certain code “A+B’° means *A is the daughter of B';"A-B’ means °A is the husband of B™; *A*B’ means ‘A is the
brother of B

Which of the following correctly explains the staternent PHQ*R7

Options:
1 « P isthe niece of R.

> % Pisthe daughter of R.

%z % P isthe cousin of R.

4 % P isthe daughter-in-law of R.

Question Number : 68 Question Id : 206205573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 69 Question Id : 206205574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a certain code, TWINKLE is written as SVHOJKD, then how would FILTERS be written in the same code?

Options:
, « EHKSDQR

. » EHKUDQR
. » EGKUDQR

4 % GIMSFST

Question Number : 69 Question Id : 206205574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

foreT f9ag g 9T #, TWINKLE #T SVHOJKD # &9 & or@r far &, S s g 9w &
FILTERS & ¥ for@r smdem?

Options:

. » EHKSDQR

. « EHKUDQR

- » EGKUDQR

4 % GJMSFST
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Section Id : 20620583
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 20620583
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 206205575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the abbreviation "WACQ’ stand for?
Options:

, « National AIDS Control Organization

-~ » Natural Aids Coordination Organization
- » National Advisory and Control Organization

4 % National Arms Control Ordnance

Question Number : 70 Question Id : 206205575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEea ¥ ‘NACO' & qoT F & §?
Options:

| v FUAT TSH FULA HE AU
L « TUFT TSH RIHATEAUT HEfArsrere

L x TUFST TSABAY TS FULI HfeArsorere

, x TUAST IFE FU HSAH

Question Number : 71 Question Id : 206205576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first Indian chosen as the Secretary-General of the Commonwealth?

Options:
, % XKrishna Murthy

> « Kamalesh Sharma

=z % Rakesh Verma



4 » Gopalaswami

Question Number : 71 Question Id : 206205576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
s - , :
ISgHEA & HgE=d & §9 ﬁ'fl:rll ITT gl AT hid 477

Options:

Question Number : 72 Question Id : 206205577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Where is the Wankhede Stadium situated?
Options:

, w» Chandigarh

> % Chennai
5 « Mumbai

« Bengaluru

Question Number : 72 Question Id : 206205577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options:



ATETT
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Question Number : 73 Question Id : 206205578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which sport is the term ‘Butterfly Stroke’ associated with?

Options:
1 % Kabaddi

o w Wwrestling

-  Swimming

4 % Rowing

Question Number : 73 Question Id : 206205578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

9g Ty Tl fhE W § T g3 g7

Options:
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> ® O
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4 % FAlRTT

Question Number : 74 Question Id : 206205579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Whal 15 the todal length of the coastime of India, inchuting the mainlend, Takshadweep Tslands and Andamean & Nicobar
E FTi T

Options:
. % 7,071 km.

, % 6,000 km.
2 # 6.500 km.

4o 7517 km.



Question Number : 74 Question Id : 206205579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HED -4, wefeaT SEHAE H HEA vF T eEweE wiEd #WA & ST 8 5 T
EnCil

Options:

| % 7,071 faeiex
, » 6,000 Rrehex
. » 6,500 Rreiiex

. v 7,517 Rreiaiex

Question Number : 75 Question Id : 206205580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the apex organisation in the co-operation sector and deals with procurement, distribution.
gxport and import of selecred agriculnral commoditias?

Options:
1 « NAFED
» % NABARD

s % FAO

4 % FCI

Question Number : 75 Question Id : 206205580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » NAFED (7T%3)
, « NABARD (+TaTS)
. » FAO (THTaM)

, » FCl (THEs)
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Question Number : 76 Question Id : 206205581 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woImens history is valuable all twelve months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Display Number Panel: Yes
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Question Number : 77 Question Id : 206205582 Question Type: TYPING TEST Display Question Number : Yes

Payday loans are smart options to avail money in difficult economic situation. Several online services offer
quick and simple option to get the money after following certain online steps. Payday loans are the shortest
forms of money lending where a person gets quick money for emergency situations. These loans are provided
for a term of one month till the borrowers next payday when the money could be repaid. This type of loan is
quite handy and useful for situations like medical emergency, car break downs, monthly bill payments and
others. These also help the person to maimntain good credit score by payving the bills and other installrments on
time. There are several lenders present in market that offer these types of loans including national banks and
financial institutes. But, all of thern hawve a list of eligibility requirerments and documents that take lot of time
to fulfill. In order to avoid such a lengthy procedure, it is best spot is a reliable online service that provides
quick and hassle free short term loans to all the residents in your country. This service eliminates the hassle of
arranging documents, filling forms and other formalities while provide instant loan after the completion of
sirmple online steps. These reputed online service providers benefit both the lenders and borrowers through
their quality yet personalized service. The working of a reputed company simplified and transparent for
borroveers to freely perform the financial transactions. As a borrower you can find options in filling different
types of pay day loans through a trustworthy company. These professionals basically pass your loan
applications to suitable lenders and deliver the money in your account. This novel online service follows a step
by step process where the borrowers first fill an online application form which is forwarded to lenders. Then
borrowers get approval message and prompted to enter details of bank account where money will be required.
After this step, the person is requested to sign online loan agreernent and immediately receives the requested
amournt in account. The payback facility of this service is also hassle free where the person deposits specified
armournt along with interest on next payday. Users can find these loans in affordably low interest rates that
preserve them from vicious cycle of spiraling debt. The online application form is very simple to understand
and use as compared to its traditional counterparts. The deposition of money in accounts is also a fast
procedure that would allow you to make emergency payments on tirne. Users can avail different types of
payday loans through this service according to their requirerment. All the terms of payment, repayrnent and
formalities are clearly mentioned on the loan agreement that provides total transparency.
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